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ENGLISH

Choose the opposite word of the following:

1 Fecede

(8] Rush (b Advance ic) Approach (9} Farwarg
< Ancesiars

~{8) Supporters (b Disciples (c) Followars (d) Descendgny,

3 Transparem

(a1} limgic bjcoloured . {clopatue () fortheaming
4 Pll"hl‘.:ipll:ﬂ-

{8} jeiin (b} qui “UercGoperate  (d) play
v DCisapproye

(&} reject i) allow M (d) disakow

Choose the correct meaning of the idisms/proverbs given below:

& To clear the air .
(&) to vwark hard Hh-rﬁ’wfuh property
(C} 10 femove benseon [d] b2 create confusion
T Pillar 1o past
[a} drivan from one place to aosher i
ibh vy liresome journ
AN Suppons of & Buiding id) clensy laoking ﬂq:;

a8 To smell a rat

Ez:f To Skt ond Eilr::mm; m..;"}"hﬁ of 8 bad desd o
3. Ta be above board

@%ﬁ ::ﬁfm desl ) They have no debis

idl To try 1o be beautiful

10 Slick (o one's guns
‘-{J-rr‘n-ﬂ!l:l'll:all'l one's '.H!n'!d urder aitack

i
{ch make something fail ) Buspact sormeting

(d) b manatied

Choose the waord which bast expresses the meaning of tho given words:

11 Conceasl e
(@) ravaal B Felaricus

12 Extract

[a) give idiead

CET/OEL P01 /SEY CAlLass - W

=) hida () herm

(&) remerve [d) gisperse
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B {a) authenlcaie (o) conceal ||'I:|:|_|:|-I-:|'i () disapproes

e -:E:]dﬂ-:r:mza (bl gisplace . (c) institule W .
1% mﬁ'l'l'llﬂ-' ‘m‘ {ch lighlen (d) abardgor

I¥. Choose the comect spelling:
i) WA gptoilianiuam i) Mt

(1) Independant iel Inoepandint id] Indpendant

16 (m) Millennium

17.  sja)lndEpendent
18+ fa) Msesllaneous (b} Misscedaneous (C) Misccalangous (0 iMGoeEaneaus
19 fa)EmiBarass Ib} Emibarase (c) Embaras (d) Embarass
20 (a) Humorous = (BGmuns () Humorus (] Hurnaros
W Give one word for the fallowing
2. The act of munder of a : _
{2} Suicide W (e} Pairgide {d) Homicide
22 One who iravets by fool .
(@) Trawehar (b} Stckler H:}FEEE;EM (d} Disciplinanan
23 Asiudy of s
(a) Archaealogy  (b) bislegy (£) Zociogy Wﬂgr

24 A lilg history writhan by oreself
~{a) Autobegraphy (b} beography (c) Archasology () Deary

26 The art of tilng the soi
@) Agricuture (B Pisciculure x(-:fﬁ'?'-';:;;re (£} Apiculture

Vl. Read the passage carefully and answer the guestions that follow:

Yoga is an art and sowence af healthiy ife. It = a gysiem of exarcise, whech had
its omgif @ ancent Inda some J00) years aga. The wise men called saars were
engaged in Ihe pursui of knowledpe. They realized that wnless the body was kepl
haalttyy, the mind wauld nat be alen and inftellect woulkd not e sharp
They abserved how the animals lived in harmony wilh nature. The Seers evalved &
system called yoga, which was based on nalure The Sanskrit word “poga’ is derived
from the roal "yl shich means 1o join of 16 unite. It e writy af man with Nature ol
God Yoga is a group of physical, mental and spifitual gesciplines. Sage Patanjali is
considered as lhe Father of Yoga He colected the thoughts of diflgrenl sages
harded down from generation 1o genevation in his “Yoga Sutra A yogi is described
R
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@S one 10 wham digease, dealt and ald afje do nol come. His mng "'h'l"':'"ﬁ'l'l:l
And saksfaction. He has suppee body and alent inkellect

8. Yogama

of puercise. which had ils ongin in ancsent Indig
(8} games <] sysTim . (&) sage (d) seay
47, The seers ware of the opnion that 8 haslilvy mind S—— T
(8] departs (&) resades ~JC} Teniaks- {d) refuses
8. Which word in the passage means: ‘gl the people lang at the same Lime in g
sacisty'?
la) ancint (b) dsciphires (¢} yogi () geeration
9. “Yoga'is. & Sanskrit word, derived from the root
(@) yogic (b} yog oy L yucky
30, A yogi is one who has bealthy body and & -
(8l pedcetul mind  (b) dsease (c) lagy mind id} unsatisSed fs
VIL

‘dentity the correct parts of the speech of the underlined words:

1. Never tell a fis,
[a) Commaon Maun

(o) Propar Maun
(c) Cobectes Moun ) Sbctract Moun
32 Alpnr ing dinmnar, | was brunagry
(@) Adwart
[} Prepasiton id} Irlenection
33 My teacher gave us more Fomewark 28 though we didny have enough o do
an (&) Camunction
ic) Preposition [} Adverk
3. Meghna likes gardening vary much
‘ta-refh () Froun
(&) conjuction d) advert
35, F-u:l-:-mhm-_m:l &l hatme dyuring the Iockdawn pEriod
(@) wor _ {b) adjective
Ak priposition Id) advert
il

Fill in the blanks wilh the maosi Appropriato word:
8. Gardhij lived

e o V0 Erdilish rule
(a) in M (<} om

a7 | vl call @ your hoyses Ire &y rar
ﬁ""“"‘“ . B
(] L (c) during {d) of
CET/DEC 203 rser CACLASE - W)
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. Can you please go o grocery siore on Fi¥fih Sireel and buy 2 cangn, g

7

(8] A i) An Ve FiE (d) Mo aeticie
. Sheery talked on tha phone ____ midmghtl.

(@) sedl (b} unid e o d} ateg
. VW &an ho the cinema of 10 the cabd

(&) not - (b} nesthar [} trarelone TN T

. Rearrange the following in a sequence 1o form meaningful sentence
i choosae the cormect oplion:

he! siepped cut! had! hardly’ f began' when! i fain
{a] Had he stepped out hardly it bagan [ ran when
(b} Hardly had he stepped aul when i began o rain
ic) He had hardly oul stepped when it began 1o rain
- WTen it began ta ran, he had stepped oul handly.

' clofhes/we/New Year! on/dwing/pulfiheinesy
~ LA Merw Year we put dunng the new clothes
() We pul on new clothes durm the New Yaar
[c] Naw on clothes are put during the New Year
{d) Ve dunng Hew Year pul on the new dolbes

vy wanreng 8 medal’ | told himd unbild about’ not knoaend' he had
(a) Ha hiad not known aout my senning a8 meecial until | fold hem

ad riol kNncwh aboul my 8 meedal winfmng urtil | told hem
(c) Had he kiown about Acl iy winfung & medal walil | 1akd him
(] He had kacwn not sboul 8 medal el | o am sy winming

Sanu rand when the postmand’ at the door § knocked! 1o answer 1l
. LBFYhen the postrman knocked to answer it Spny ran al the dogr
(k] When Sonu ran at the doar the postman knocked o answer i
(g) Wihan the door knockad ai the posiman, Sanu ran B answer il
[d) When the posiman Enctked al e door, Sanu ran (o answer it

thpughfshetnchifimiisis/proudinot

[@) Thowgh she s nch, Memi 15 noi prowd,
{bh Sk & rech thedagh Mims & mal proud
(€] Mirmi I8 rich ibaugh she & nol proud.

~jel) Thouagh Mirms es rach, she is not proud.



X ' Complete the following passage by choosing the correct eption from
those given below:

The idea thal a healthy plate of food (46) ________ lealure several difgren|
colours Is & (47) example [48) an old wiva's lale [49)
e lums gul to be good science. The colours of {50) vegetables
reflect ifferent anticasdants they confain,
: a) waukd () wall (c) may () mighit
47. () bad (b} good 3 _[Elchear {d) dry
+ 46_~Ta) of (o) for (2] in (d) to

49, (a) whal (b} who (&) that R

0. {a) miosd w (c) less {d) scme



wﬂﬁw
51 mﬂﬂmw'w.mmﬁmmﬂﬂ

OTEEE B Which one of e following is @ recipien of Bocker prize 2030 x, thes

nowel Shuggie Ban™ -
(a) /i TEEE /Lee Child B STEH FEHE Douglas Siuar

ie) oA ThEma ! Lemn Sissay (o) oA EIHH-'EMI-_,.' Wilgon

sz, rugh Puefatan A @ few e @ AT S e 8 Kuchpuar s
a popular folk dance of which of the Tolawing stapes?

(a) ATF=ATS Tamil Madu (6} FHEF Karnataia

i} T2 / Odisha ) HEFTETTIAndhra Pradesh
53 Mpw 1 HE@ @ ¥ Wnatis ihe curency of Bhutan?

(a) A MNgultrum (b} Q=T Kuna

fc) SerTley o} Bt Peso

54 Hua A mdten dien quERR FE @ E2AWDich s the highest galantry
award in Inda™

(a) wva BRE dm JA=E Param VishishiaiSeva Medal

(b} FTAme AKirti Chakra

{c) draa A Chakra
() TrEATOe (Param Vir Chakra

55 Fomer MR wE Ud Ot e P o am g e feng f, s e g
Fif=an ®t =t FUSALA and SLMP schemes, which has completed six years. is
mmplemenied by wisth msnialny?

() B T TFEFE FE0 A Ministry of Agriculture and Farmers Wetfane
o) R AT Mnistry of Power

) TR SHAETE AT Manistry of Rural Development
id) HdR HATEA Mimstry of Communication

5% FaH Toars TRl sl By 15 tha st fartile gail
(a] FAe Bl raluvial sol (b} & ﬁ-‘m‘ﬂ rad gl

¢c) wen FATET black soil 1) s AT Aaterile soil

I ——— e —
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57 dilwds & w@r i AeTAT A & vl 1 HET 9 The book

lled Loktantra Ke E,‘.T;ﬁ?—rﬂwunm af speeches of which Incian leader? /
(a) B4 AT Aeraian Nadu ~4u) &% A FI8E Ram Maih Koving
(¢) % fNarendra Modi () 3 HTE iArun Jaitiey

58 A Ao 3 v e O e e g anee wfifel 3 fore e e o
HITE T BMindian Army has buit @ memanal for its personnel killed during the
Galwan cliagsh. ai which place?
LA} T /Ladakh () FEreT Sl iSiiguei
(€) SR L ammy d) fRretn /Shitong

5B 15 MR ¥ 02 METHR T Wy i o g o fag o M i
F 0 B2 \What is the name of the ftness campaign launched by the Uinion Sports
Mirister from 15th August 1o Ind Oclober?
{a) T 47501 1Run Incia
R T Fil India Frewdom Run
4 20 T Faness inda Run
(at) Wres §FT 2N et india Marathon

80 2023 M fae ofteg pcc) fiy o @ o B g W el
B7Whech country s 1o play hoat 1o the 2023 intemasonal Cricket Councl (ICC)
mcw;‘ﬂ! | W A

[l rd 0B i

() Tfkem [Soutn Atnce ) ST TALsala

a1 el e e ot ma few dafae A @ dAvheh soeniist discovened
ihe rachioachve elament ragium?
r (n) WPEEE [EH Muasc Newtan o s ST (Aibert Einsten
() rafEre) Sruter Banamin Frankin (o) 38wl Mane Cune

g2 Frofifim & @ fav e, wfen fmmy & s # o wm Fahich among
trve Tnllowing @re commonly known 88 Bhoobing slars?

ta) TEHT MAalwor (i) T [Comat

ie) Planat’ 9 [ LAsrmd GETH
gy Frpfedfiam @ @ ol sovhy were welt @ wale SAET & Who amang the
fol i& Cammander of indkan aemad lorces?

1 i TP /President of Inda

(1) vt & ORI Avice Presadent of Incia
(&) WTEE & U T Prime Minister of Incka
(d) W 6 20 T Detense Minister of Inda
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atmosphere?
(@) T ZEHIFIEE /Carvon Duoxide 1oy TR Methane
() TEZFFT HIFAGZ Natrogen Cwide

\{c) TE-AP Water vapour
&5 aﬁﬂﬁnﬂmm&?ﬂmmﬁmmhﬂmﬁlmﬁm-:

nﬂﬂhr:ttﬂ“%;ﬂ_{lm state of India?

a) Marigur b IAS Na

(c) e Mdeghalaya id] mﬂmizﬁ:nm
ﬂqnﬂﬁmﬁ?mmﬁﬂﬂwm

s Pofafam # @ whed T
whech of thee followang is a book wrilten by Dr AP J Abdul Kalam™

(a) HETT smyfErE/indian Modernily
(b) Tl RATT [The Transparent Mind
(c) FHT a1 WG xfagra 1 Brief Histary of Time

\marﬂﬁ"-;ﬂ w2t/ Wings of fire

1 Which i the Capital of Spain?

g7 e el vt aeredt

(a) &t Toledo (b} aftieim /Barcalona

\ Jc) e itadnd i) ferin 34 fBibac

s DRDO =1 Tt #1 T * 3 feem ) ATBTT P F1 HH ¥
#7/What is the name of IR indigencusly Develaped nti Radiaton Missae, tested bY
DRDO?

() FEH [Rudram ~ (b T IShiva

(c) ST /Shakh (cf) T4 /Rakshak

itz far & ¥ #

&4 aﬁﬂ#q’:ﬂﬂﬂﬂm
are #7/The martyrdom day of which SR Gury i
M -..eml:rt.ni'smmuﬂnwﬂ"r |
’ I:i,lr.T'-"-ﬂ“ MGuru Teah Rahadu’ G Harge and
rc]qﬁfﬁﬁﬁﬁmﬁuuww [dlﬂiﬁmam.ﬁmuﬂam[w



0 Wi avgre Y e 7 How does Corona v ansmly
b (e anrug cofe e w e B R EW A SO E @
T wrromm & aend or B SER B When a parsan sneezes of coughs
*DﬁluiﬁmﬂﬂﬂuﬂﬁrlllmhrﬂNﬂmﬂim
mw&mmnﬁrm:tmqﬂﬂmmtwﬁmm
F"Fﬂhmm_rhwaiﬁﬂlﬁit.ﬂﬂmﬂm
hmmmmmﬂmmnmuﬁmm

surtaces ard hmmmiu.mm'mﬂ.hlwﬂw =R
irectan

(c) Wit semfEry cafm @ =it 1 9z & TH @1/ e datance is less than 1
meter from the infected parson
(&) Faves Wl Wl | /Al the above are commecl

T, never od ofes sl fasree B s WWha Craated he legancary
comic characier of ‘Mowgh'?

#l Aishnu Shanma pny e frfEanRudyard Kipling!
je) et s Ruskin Bond {d] W A, «0FTEORAUR K Marayan
72 vdes gt e g @ Bisen smon &7 Anwhich fided 6 The Arjun Awasd
Gvan7
() FERETEY Music [} forfincemMedical

73 e Fereert] apaem o o 20n @ ano A sl fasnT Whech destruchie
antered India dunng the month of May 20217
(| &I Hawyan _ o) et Katma

v ). 2 TSandy () ool (Tarukbe

74 dA7blfiee # oo mmn wn &7 ) What s measwied by Barometer?

(ai) e ‘Feain 4T if Awind Speed
ic) aREFAImosphens Pressure i) cIvEETA J Tamperatune

T8, mmwﬂmﬂnﬁ’mﬂmdmﬂﬂmﬂﬂlﬂﬂ

sibuated? _
ISnharials (o) Ay /Bengaluru
i) €lerd KChennai (d) AtMIGoa

76 arreeite apliy aid) ahm K7 Who is the Agriculture Mirsster of india™
(a) =fts frie ot /Mannder Singh Tomas
* o AT ad7 Harsimeal Kaw

(e wsia FponAdun Munda
(d) fede Fefhestf Kiren Rijipu
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Ty Ml = din i e i mlel 7 WWho & he head of Siale Bank of

india?
(@] HeE] RS e JAkanu Kumar Das
~[t) Fieha e e / Dinesh Kumar Khara
(ch Tsefler e /Ragnish Kumar
fdj e, TTHinSA S Rageev

78wl snge o &7 What is Dry lce?
fd] DEErnd ST Wierend s Lqued Sulphur Dicosde
(b} ereey srereitare f Liquid Quygen

[c) &M ARSI | Liquid Mitrogen
() ot adten i wrererde Solid Carbon Dicxide/

TG HIE AT TEEE e recter ersenel asteren 77 Wich is the longest Mational
Highway of India?

(@) TmtE Traant 44 INH 44 ) Teter eraana 4B /NH 4B
"E'_,:‘:@:"'“m'i 2TINH 27 (dly el Tesvana 527 NH 52
80 e g ATEA & TAT At o A g famTyy Wihat did Gandhii do 1o break
e sall law?
(&) ZTET # Dandi March (b) MENSTATE ATY /Ahmedabad March
(c] TRl AT /Champaran » () Fsh-All
Bl e A erniifes sreretaan movon aren «rsn @l wm @ 77 VWhich stabe has the
mighast population density in india?
(a) af*can dane AWest Bangal (b} Af et (Tamilnadu
{c) Jereer AUtar Pradesh (] serrere § Maharashirs

a7 ameer an ee g Fased ave sren 87/ Wiho is known as lron Man of India?

[a#ereie aveial and wte [Sardar Vallabh Bhai Patel
() TeIEE ot Fr flawahar Lal Nehru
&b eTien e 20 fLala Lajpat Rail
id) averan anied] Mdahatma Gandghi

Ry epwrewr an ersemne adte 17 1 Wha is the Governor of Ragasthan?
(a) ddl c1efl /Baby Rani  swreeea v (Kaleaj Mishra
(c) Mreiel e vt (Anandi Ben Pated  (d) W] efier@ [Phagu Chauhan
84 (afie enreermren 4t el gen desd an aneger foe asmen? /' Who abolished

the practice of "Sati’ dunng the Bribsh period?
i) seersl’ Dalhousee iby detater / Wellesly
(¢) Frfreran dfem Ailliarn Benbinck () ke Mayo

-ﬂ—_——
Page 11 al 32
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a% f'*'l':l'-‘liﬂmh]m[nmmmﬁ'#hhmmnﬂﬁmnm{#nm

CoOMduige of "I"mr'i"

§a} T Sivar '*-qbrﬂﬁ_.'l:mmr

ek eereepfanforarm Aasaminium {d) darEmEy Wica
86, urEw Afriaa ug el aner v 2eery 2w B2 Wehat is the lorgilude of a place
on e pnme freradian

(a} 350" {b] 180° {c} 90 “fd} (2

BF. T W P & g3 $ Guru Gobind Singh was the san of-———
{8} ¥ FEERT! Guru Tegh Bahadur  (b] I[F 9221 Guru AsjanDay
(<} ¥ FIRE Guu MarGabind  ~(d) 9 710 Guru Manak

88, qul & argEEE & amegtae e g TN EPVWhat is the percentage of

MNilfagen i aimosphere of the Farn?
(2) 75 03 by 75 03 (€} 7809 ~4Th 05

88 quElt 1 w0 Sy oo o e o | gt A 8 fel & ward ov ol

e Yo A 16 Toah fy Sand ooy A B What s the name of the layer above
Eath's surface which is bocated af the height of B fram poles and 16km from the

e [WE L
() AR des osphene {bL AT A Mo s phere

menu (d) FRETTHAER. Sratosphers
90 il A e AT A T R s o B Which nutnients help our growsh?
fa) W8 Prodeins.
| bpET T FEIETET Fats and carbenydrates
fe) T dtrafa= Avitmin and minerats

() & WIW 1Al of these

g1, Frw A& e med B dvwsR & i @ R 3w s k. afy
qUA o mEE Ei/Thare are saven conbnerts in the world |9 ferms af

arga, the larges| continent is , and e smaket] conlirend o
(@) Ui 3r=rdh T JAsa, Antarchca W’Eﬁm TR fhsa, Ausivaka

ic) e, MERRET MAdnca, Antarctica (d) SRR, TR T Adnca, Austraba

g2 B oq mod o= Pl &w wtE | EW Which is the langest Archipalags

country in the warkd™
' # Indonesia (b} FATIT Malaydia
() ST /New Zealand / id) A= Maita
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m.mnﬂﬂwﬂmmﬁm:MEmwwmmmm
Warld Wide ¥Web (Www
.._.tﬂﬂihﬂ#—ﬂ'r'mm Berners-Lee (b} ST/ Bob Kahn
(c) FETATTH iSteve Jobs () TI9TZH / Bill Gates

B4, ﬁﬂz!mﬁﬂnmmmtmmﬂmﬁﬂmm
Wha 15 the Rounder and current CEQ of elecine cars manuaciunng company

Tesla™
(a) F=TR 7 Bill Gates (k) AT / Lamry Page
_c) TR | Elon Musk (d) FEESAH / Je Bezog

o5 fﬂﬁwhﬂﬂﬂﬂrﬂﬂﬁﬂﬂmqﬂﬁmﬂﬂfhﬁﬂﬁﬂﬂhhmhnfmhmmng
et drang inlo Bay of Bengad

(a] {pre f Kishna "-[-I:l]’Tc'i"I‘T‘ﬁ-’TIFI

() THERET J Suthy id) “1abat Narmada
% AT w R o ww e &/ The saltiest water body in the
ward 15

(a) AR BT /Red sea (0T TR FEFEPT Pacific ocean

{c} {A A Dead sea (d) Bz #ETEET indian ocaan

7. 2020 qUR WA AiEE owd W e R dm & Who has clinched
the 2020 US women's singles tlle?
HIHTEF Maomi Osaka [b) #AT OTIFE (Serena Wiliams

(c) Traeifrar wariam Avictoria Azarenka (d) ifver &3 /Sohia Kenin

%8 A fEw T A d FET 3T R Sahyadeis is akso known as
(@) FTTT (Araval « (nLREaTE AWestern Ghats
(c) AT Himadn (d) qEfbarz /Eastern Ghats

% A § Ffauw #® R arfe & Foemn o @r? On which date The

Constitution of India was adopted? /
(a) 26 FOET 1949726 November 1948 (b) 15M7FT1347/15 August 1847

~[cL26-FTT 1950026 January 1950 () 1SHIET1950115 August 1850

0 3 2 F AR gAT & gE w2t s FRe F o /Name the countries
which lie on elther side of Durand Line

(@) 3mTA M arfieEaTA Andia and Pakistan

(b &7 ¥ 547 Aran and irag

o FETE 3 QIR iAkghanistan and Pakistan
(d) #A AT HA Anda and China




- I F7

fiarg 1 INTELLIGEMCE
0. T oafe go0 afey s Fem @ S5 TRAE A o owem Rifeel ofy ot 3

mmmhmwm.;mMWﬂHm A mreruiea ¥Whad = hi

SpeRd m km par how'?
TR L = de] B4 fed}. 90

T -
7 e

Esdvi= pverelemn 102 - 109y wesma frer (7) @ aaeed & e e Fenes T e
e | s Directiors—{0 102-103) Find oul e COMECE oo 10 replece M QUHES TR
marhk (7).

102 oy 2, ol - %ouse  Roof -Earth' 7

L&} el Adcsntan b 1) Mr
W| Bhy fd} MR LAITHOa RN
10} wlaem o sarA - ot o o Cagl Ming YWaber -7
(@) T ank b witen fDink

W gy s ANl

104 By were e s siade fofdear o & el yane wawer an ot Bva @ By
[esease s redaled to Medicne' o the same way 48 Faming is relawed 1o

) 7FaE  Dirought T TR iver
(b e uune) MYaserial |} dTE T Ciuds

105, fam wy Swfpos wet 8 @) oo v YR G Ry o owe @ el @
g A T T e -ORGANISATION | From the grven alternaty
words, select the word wiich cam nol be formed using the lethers of e given won

ORGANISATION
(a) GRANT
(o) GIANTS . {) ORANGE

1086 f&ndqﬂutmmmmmw

{a) 1385
() 3175 m@1

Page 14 ol X3
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107, oot ot 2 oes spfy e ok Eseeval SPRY (0 Gl oem e sy A
feep walds R Select a fgue from the oplions In which fig (X} s exacily
embedded as one of is par

X

Fig. {X)
— | {:‘5 |
(@] !:Er_:_h M

o~ T
ES} |
{c} !—_l 1dy | :'!

108, wortes e dl sl & eepe ot gewe &9l & g fasedifaen at o misr g
ererel @5 w1 WiAR s dlan? ANTech of the Tolowing will be the kast dgit of the

second highes! number after the posstions af the digits in each number & reversed”
738 428 156 273 854
{a) 1 k)
g} 4 — (d] 7
100 Fivaerftfien & @ mlren were cge at < o 38 SfREen wh gEn anE Which
af the following set of ieters will compiete the given ketier senes?

WFB, TGD, QHG. 7
{a) NU BN
() NJK di PJK

110 ﬂmmmﬁaﬁﬂaﬂm#ﬁ'ﬂlummﬂﬁmm_ﬂ

# 1/ Food is related to Hunger in the same way as Medicine = related 1o
ib) HHERR Meracle

(d} Y Drought

111 s Erfen qee s of TELEPHONE @51 ENOHPELET Biean nem 1 7l ol
ALIGATOR @l & [Praar smen #* in 8 ceran code, TELEPHONE s wnflen as

NOHPELET i5 ALIGATOR wridten in that code?
" o) ROTAGAIL

AGILA
ic) ROTAGILE {d) ROTEGILA

“FT fDEC BT L/ R Page 15 of 12
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112, al% ofty aif gees ; mil Gic] a2, e b el e o, end o)
eniefl rearn m-ﬂﬂfﬁﬂ:.mmm:uﬂ.r:m-ﬂ'ﬂm wie aftz wrn el amafl e

A, ol M A R o e e anAATH I husband is calied wile, wile & caflod

prandiatner. grandiaiher s cailed grandmother gréadmother is called matemal
grandmother, matemyl grardmother i caled malermal grandfather. malemal
@ ArCENINST = Called mysemal uncle and malemal unche & calied mabernal aurt then

wharl will ™ falhwr of the mother be caled?
(@) T Masenal grandmother T Matemal uacla

L) ATl C Matarnal geandfather i) Al e i

M3 35 v ol oo der A gy ofted ¢ emtand enet av @ s obene] e 8 ol
T 9 &) et ol she db o dbe @ voar s B gofenn @ e o oo A
F7 In & class of 38 siuderts, Kural is placed severs from the Bofiom whereas
Fonak s placed ninth ¥om the lop Pulkil 5 placed Exacty in befweer: [he e YWnal

s Kunals pouhon from Pugki?
ja) B (&g 10
{d) 13

M4 afs A B e ¢ Pragn b mlo & ot A &m am esg @50 © Find the
Middurermesnt of A @ B and C are ghven whan A B and © a0 ™ anges of the

ta
= 180°= 1B + C] (b} A = 180" + (B = C)

CA=180F+C -8 (e} 7t =t sl of these

118 g et e e Bl wieen 1. 2,0, 0 dbe s ®freeal @) @ sieen an O
TR wien anitf o B el wopmme cvafiene waeet o ven welged e e Sme Some

lelers are given whech are numbered 1, 2. 3 4 and & Find the combination of
FUmBETs FOm (e 6E50NS 80 that the leflors ararged scoordingly ke a maaringful

wuad
P i 1 Wy L

1 3 4 5
a1 5 4, 1 iby2.3.5 1,4
ic)3.2 4.5 1 fdp2 1.8 4.3

106 W sl aft iz o W ot g o ol &) R on el e apel @ sy o
Htee el d gends o oo e 0 apst & e o afloe ol B o e A fise
fEwn ot &7 Pia walks o dstance of 4 meres lowards South. Then she ums (o the jed
and waks 3 medres AMar this she lurms lo e nght snd walcs 4 mefres in wincy

drpcion i she tacing now?
(@l verv—yo Morih-Easi w iSenith
ic} FE1t F North gy aftrn -t am South-West



17, Implden (1] 3z (2) & dbey o Ffoern wsin &) ) 3 2 om meen sl
o e R et () st () & bt o e 2R ot ) wpfy (4 4 ()
ot witreen®o @wdani/ There is a certain refationship between Sgures (1) and (2}
Estabiish the simiar relabonship between figures (3) #nd (4) by selecting a suitabie
figure from the oplions which will replace the (7) in the figune (4)

d=ll=F.

- -]
1 2 a 4

N e

(e} | Q, ” @

118, féraer @t A sltoren fymen Form () & foe oo Bewt o g awtan?
Whach of the following options will compliete the paflem in Fig. (X)?

Fig. (X -
|a) Z (b E
& A @\

19 & arg vl & Fraei ot wwen ety Count the number of tnangles i the
grven figune.

(a) 12 (o) 16
wJC] 22— {d) 24

120 U a W oaed = % bW W # - oo ol v, 0 W -F
A Ba 3 c24 b 12d 19 = M a denates =, b denotes -, ¢ dencles + and d denobes -,

henf8alc24b12d19="7
(a) 17 (B} 7
(c) 14 (d) B

e ————— e s — e e
Paoe 1T ol 32
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Srenrih frgm te
b & F
() | tmH

Fabm. geey (23= 23 #ild) & spfl wssmad] g snfta #U Directions: Question
namber 132 &113 are based on the mlormaticn gidan balow:

UL A, B, C. D 3¢ E e e s oTim a1 QR0 ol Al aged aweibs 80 Do 0 |
P aibe  uier afivern aeett dfin oo gerfl dfim A gore ol uibe apw ok
AUk B C D and E ace frve men wifing in & ine faong to soulh - whie M. N O P g
E‘:.E"""““”’ in @ second Ine paralisl 1o the first line and are facng |

) B o Lo e G O 1B who s pusl nexd ba tha lef ol ©
'ri'i;'f - Ln:u;ﬂ e el 1 W ara diagenally apposite 1o ea
Y . O b Tt X 1 W w5y 170 s oppowie W0 whia T sl s g
:u. - st B0 sl &1 0 wha s just to tha it of O & opposie

&
{1} MTTER 6 s wile 2 7100 s 81 o e of e e N

122 Qb aid A ferd oo o sde don &7 Wne s third 1o tha right of O7

(@) Q
() M () 41 i & Data inadequaie
123 Towwrlisfimnr o @ witer vm ol oen o s foton, 17/ wtich of the Tollowing
pair s dlgonally cpposite to each oines?
(@) E and Q ) 8and O
H_E!__—"_-m-- [d) A mnd M

124 o Prfeera e oo 3 od 2 b wo A afisen P e 4 il Y e A
anlfitas fasens ey B, 6 o X 6 w0 ab nbfiten Fovem avem & 8 i) o s e ) it ke
an & e re v b oeu at wifen e 20 R CETI B B s s ailfedin a
Ceviam code language. 'Y is coded a8 T 4" s coded as Y, °§' i coded as X' 6 s

W'TH coded &8 V' Find the code lor 574"
(B ¥IWK

(e} VY {d) VZXY



125, weEmeren foes [7) dv vewen ue g st YWhad comes in place of the

queslion mark (7]
TCVBXA?
(&) ¥ N
g} L—" {dy W

fordwn | waar 126 sl 127 Frserfinfiey Rrade ot Hﬁﬁ'ﬂhmlgnmp_t
g1 s dn fadbon (e ﬂﬁﬂﬂﬂﬂmwllh::;ﬁm
Direction: 126 and 127 are hased on following

mn?ﬂ“m?mwﬂmmwuuﬂﬂwuqmmm

of a woek. Scale: %' = B balls I':.a}
— HLM m'ﬁ uF BALLS | - m

p==

DAY
SOLD E—— : . Faln
' ':{-‘;i.-.-}'.i.';*:_ J —jil TN

TMONDAY/ il | .
TUBSDAYUmeRIY s
WEDNE SDAY! geemiy I'J..'.*..'.J_:.‘J:.J%"i'_.' ]
.' 'I'HLlllﬂ-l_lfI"ﬂE_lil' _.I_.'..:'.L.".l_:'. EERL LR TR LR O K |
_ FRIDAY/ =y I S |
SATURDAY/ waleard | A -

128 fw [er gt of eaed afiem 1# dell? /On which day 1he MM
B of bals ware soid by Bhe shopkeaper
- () dlatesadl¢ Tussday

@) ertmaleS Monday
“(c) dfa=rrrTT hursday () e Friday
227 ajaennd ) [oeef dild [aall? Aew many balls weve sold on Tussday?
(@) 18
:I (@) 40

ie) 32

1298 o fefdern ot amn ab Al e ob amdl e snen & oo @) e
aent & whe ol qan’ s menn . o P & o olteren smenre sfmey it 20 #8700 a
il 'Cow s called 'Goal’, 'Goat m caléd ‘Lon’, Lion s Called

cerlmn code language
Dog’. than which of the folawing aremals is (he king of fores!?
() ¥l Lion “ b Dog

(e 1t MCow idy ! (Goal

20 ftm v o & O walla SeN W 999 Y| [ Select the related Ietiers
nam hl-wm‘l-lltln'l-lh'ﬂ

EEGH OQST WWYZ.?

(a) MMOG D

{c) RATY {d) PPRS

. |



. B oy defgw wet 4 @ oo ome g o g o oTE @ a8 W
WHn TR A oemm oom areen - INTELLIGENCE! From Bha given aiamabve
WOIdS Selec the word whsch canrct B formmed uler] fhe letes of We Grn woed

INTELLIGENCE:
Y CANCEL {b1 NEGLECT
i GENTLE [} INCITE

WP amt e # ool B om aed o RS W oantw @

SSLARIIO5PE = 71 if P dencies +, O dencies- R denoies "+, and 5 dandles x,
then 15524R10588 = 7

s {a) 115 T

[c] &5 {0 45
132 AW MR C ® wr @ ufies £ o A W 9 gED T afiE B E W
T4 AR =W & g o aas O & ofirs B oweed a8 T R T A's weight s
more than fhe weight of C and A has the second highes) weighl. E wesghs more
thin & B weighs more ham O 'Whe s T Pegnaast?

fa] B {=1Q ¥

E id) &
133w s @ omd @ el e owm g B R o et 4 @ ome oWl
e gm0 sjasen o 9@ ®% 0 7 A senes s given with one term missing

134 fafem wg wid 969 @ 8 WA w1 B New o ang feeh dnh oe

awdl s Ffam A STh e Y Mikhi s 8 yr younger than his brother Fiokan.
How ald will Fohan b when b is twce a8 old s Mikhir?

(&) 4 yr B} & yr

(chByr A 16 e

138 W wvee ot owara F2 A fam o o @ e omem # males w @
gefen &) wagey erdimR, WifFER, @ W RN B 0 deniity the

@agram that bes! represents e neabonship among e given classes Computer
hardware Moric, Keyboard Dperating system

CET/DEC/ D021 /SET C/CLASS = VI |":_' Page 20 f 12



LI —
}"!- Ly =

¥ W= Wi el & ¢ WEA, WEn, W |/ Which
1 iy frm & dra wea s cEkl © | .

gl R T AETEN

of the answer Agures ilusirate the relationship bebwees
| mﬂfza ‘ C? @& |©@ U‘ Cﬁ@
I~ | W Tal ;ﬂ&
13??35.!! i A fsd e mf gt # ?!me-"r_iﬂnrnﬂ‘:;:;mﬂm
T w5 h

%
odamit M
Nikila & the daughter of Kavinder Jyali is the malher
sishers husband Hnllmmmmmm‘?

{a) 41

(E] Andsan [d) GTHTE Son-an-law
[ —
130w wez wr we g of afea @ fie B U Choose Ihe word which s
differant froem e res|
(a) WTRT i) Frmt/Cinehona
{g). ubbe () TR halk

140 ﬂHMﬂmemMiﬂmmmﬂHm

wuA WY | /Select & suitable higure lrom ihe four allem
figung malns

alives thal would complele (he




4. R My o gom @y 3 dm @ BT Bi/Choose e Agure which i
'|!|'|'|'-.'|'l.'l1|:'Ir-|;|.|'pl||:|-‘r_.“!_I

“ﬁ#mHnmﬁfrt_m yned] JET N AAIT In s senes the
ILMJErs are changing in a 4 ceder 1 continue 16 change in the sams
- ":I;“H‘""“'ﬂﬂ# Gl

213,21, _

{a) 55 b I ic) B2 (d) 37

143 I‘I;'T_E'ﬂ'GITI'-:rrﬂli'Elf'FiﬂThemngluqu. 24 T2 308, ... ..
48, 24 TZ 35 108

{a} 110 (b} 115 i) 124 g || o

e~ [earwTr 14 - 145) T I st o oo & coufEm ot alw woe BE
wreETE N B IR e W B (0. No. 104 - 10%) (Ductonary ardar) Arcange
tha given words in alphabetical order and choose which word comes first

44 ja) amend (b} aminer 4 iaTEeureh () Ample
145 (8) bermoan ~{k-Befang <) benedichon ] bend
146

e ame wel @) vey s @ e o P A wecade @ and) B albe ol
W e Mﬂb‘mmgmnwﬂan&:mwﬂnmmmﬂm1h
chchaonary and chogse the commect sequancs

1. Prabe=n 2 Problem |
3. Provert ) 4 Property
3. Projed i

I
ja) 1.2 3. 4 8 B 21,438 —ga5413 idy 3.4, 5 2 4

147, nﬁmgﬂuiﬁ?ﬂlﬂmhﬂhuﬁﬁ:ﬂﬂmﬁrﬂ__
Bi/Chooke the allérnalive which closely resombles ™ Mimar mags of e -l
ey R L

TARAINIDTAA

i AERFOrAI ARAL (2] APOTEMIAFRAT

(R AFQT AFA 1M {a] ARTONTH! ARAT

L - o

— — - ——
CET/DEC/2021 /SET CCLASS - ¥l W06 33 od 43



148. Hﬂﬂmgﬁnﬂhmmtmuﬁﬁnnmmm
HisChoose the allernative which closely resembles the mirror image of the given

combination
F4T588
(1) 6957472 {2} @BETRE
(3 SaT2EA (A BRaTLE
(a) 1 (b} 2 ic) 3 i

149 :ﬂq’maﬂqmmmmmm&rﬂlﬂﬂ-ﬂtmmﬁﬁlﬂ
m Wl ® wd aftfe @ 7 /it a minor is placed on the line MN, hen which of
the answer figures is the right image of the grven fgure?

i |

| = ¥ al__"-:_-l .Tn
! L_: L
T (<) ()

(@]

150 ﬂzﬁmium#ti.mmﬁthm:hmrﬂmﬂlulm
. mmﬂﬂm;ﬁm.*h#uﬂiﬂunﬁmmmﬂ

16 21 26 31 36 41 w'_
.;1:: 47 52 (b} 46 52 (c) 45 49



rr}){ A f’_'w
Al | MATHEMATICS '

1531, ®nd ikl (L T T mﬁqm.ﬂﬂﬂmﬁm'ﬂhmmiﬁﬂm
of the smasesi prnales| odd pHma numbss 1§ -
LA Hr.m.mﬁm_rm (B FEH FRET AR EWET i b

52 0128 w) ey e i azperca &0 3 ey Wite 0925 in Irechon &y loass
LUk -

.m{"-—.- |h:|% “!bﬁ w’{
i . 1 I
153 afw @ < = om = wr i foes el "mﬁ‘ w
Hﬂhhlmﬂt.?w'h"m;mh
i) < - () >
\ 5] (b none of hessy gt A bl of) et

154 wesn ban e <3 ) v e ) BT Wnat s the vakie of 3 lass T
0% tha b brag?

() - 4 fij = 3 igy=2 Pl

185 0% = 009 = 0,00 = 0,001 ™ o= LIS 1 ST TR
Fand the value of 0.1 » 081 = 0,00 » 0,001

{) 000100 (g 0.6G00Y () nore of thate geakt @ mif all A
150 ol arwm 81 A, amney 18 @ e e 843 6 off Weppey e it | 1F e

imp 17 ib) 47 1£) 37 e
187 [iﬂufﬂﬂ*;i‘:;??
() 2,03 I i) 3,04 (el 20.4

168, P o) ) andaren) enegen o] B
(1] it il wvesan 3 @ ot &, o) e wheem u &1 all [ansn rien wofes
() 2afls ke s o ot Fvanmese & 1) vm eheum @ @) ) frvasroen phore el
Vifuch ol the Toliowing opton & corneet?
ﬂ!l!hmmhﬂhthﬂlhbrlnm“ﬁ“h‘q
{ii} I the numibar is divisibie by B Emunl ba divsible by 4
(a) ¢ip il sibe quh @ /00 Tous and (i) Trus
(i) ) el e (u) @EVEY A0 True and g Faise
(ELLg=rrer Wi (i) ¥l 1 () Faise and (i) True
(elh (s) aveven e () NETEY 1)) Fatem aned () False

CET/IMEC/B021/SET CCLASS - Vi Paga 34 o 37
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159, 12% ol wnw ol g @ 2 omd an 1050 T 9T TRV @I [soen wban? /

The simple interest for Rs 1050 for 2 years al e rade of 12% per annum is
(a) Rs 1102 (b} Rs 52 () Rs 352 152

160 2 ames et b v s e e < <t ety o St enfei?) What fraction

should be divided by - 1o get 2 7
A 5 T_.r'-- "
a) 3 (b) 3 L ) 3
161, vamed e e wm fonfsd Prerad aif 486 MY 1|:IEID_-=|1 T [ st o ghen
Fresfa) @ eimme 6 @9 Find out the greatest number which devides 486 end 1030

a A arnoer in each case.
i Mm:laﬂ (c) 64 (d) 6O
162. = aat o aftam 32 #tes & of yemy shesor o st The perimeder of a
square s 32 rater. \Whal will be &5 area” _ .
(a) 160 m¥alF  ob) B’ it (c) 128 moail’ (d) 88 m" il

181 ey it aff et ol e weet bk wiven @ dte m so e et Fing

the difference batween the largest and smalies! number of five digns?
a) 59999 (b} 28909 (c) 83899 \,[m-&ﬁ';

164 Fae et v o oftfiet o 3, B, 7, 0 g1 aemg a0 woslt 2UFind the largest
niumber which can be formed by 3, 8. T, 57

[a) B&TA W [c) 9TE3 (d) 3738

165 =1 fagat @ feeft mrd Fraedt @ %/How many lines can be drawn

theough bwo %
&Vw (b) 2 (€] 3 (d} Mot possible

166, o vty Prags a1 Shnser anier asd Foreras anere it oo saver 3 2l 3t
4 7 FivFind the area of a right angied tnangle whose base and perpendicular are
Jomand 4 om

redpectivery
(a) 10 e/ Eall'  (DRBEM A (c) TemPr A (d) 5 el et

167, Firor simmt & a3d 5P @ 3 @ o1 etea Al s 27
Choose the comect option if numbers are ara in ascending arder
52806, 52086, 52880 E2800 SE260. - '

(a) 52086, 52806, 52860, 52800 54260
(b) S2800, 52860, 52086, 8260 52808
“fe-32086, 52600, 52806, 52860, 58260
[d) 52800, 52806, 52860, 22086, 58260



=,

168, =& cfbo oo of e se 15 ol ) &) aeen ol o) seneA2 o T 15 o
& ot et aca ofl ey fisesll @Rit? The average age of three sisters is 15 I the
ages of bavo Sisbers are 12 years and 15 years respeclively, the age of the third sigler
e

i3] 21 yearsiend iy 17 yeprseni H:J,Hfl;;'ﬂti {d} 16 yearsionf

164 L"ﬁmﬂl'l'ilhlzu-lm:___ __ra,m-‘m.-"—:nf.ummrl-. e e DAEYE
SAapIT I 365 (£} 630 (d) 56

170 EM*tm-quzum-m. 1np]mmnmﬁm‘;
ind the Value of (700 = 10 — [[12 % B) = (34 - 10)) is:-
a} 55 |b) & {ci &7 (88

171, 10 w=fin 15 e 3t vy o mt g e et @ ol o 25 ot Bl
formeret T b a2y 10 persang can finish a piece of work in 15 days. In how many

ﬁﬁ'iﬂ'w-nul:mb-mwﬁ persnrs
By 12

c) 1% {djig

172 o @ A dheven wme Prapn & w6 omd & Wich of the taliowing
Freasunet of throe -'urq.ﬁn be #noss of a nangha?

(a) 30°, B2°, 71 Moj 52°_68° 7¢°

T () 132" 188°, 8g?

173, #1e aies DXLIX ot wedl 2l A Bl ! Winke Roman numersis DELIX in
ATREC rumear sk

{8} 563 by bag ) 56 () 469

efl T e o)
Plied by 3, the ressuit is 111 Find the
P e ?

LT H (B) 35 ich 45 “{dLas—

175, Sfewy Wi A & T aqper S0 IO R | e Mfse s ghy

Mﬂﬁmtmmmﬂfrﬁlhm|:ﬁmmmt$mﬁ, ‘e
Jennifer and Jaseph together have Rstd W Jeanider giwes |
will have twice a8 much maney as Jennifer Crigi oo oeeph RS20 then Joseph

nal aFmount ol mgneg
] ¥ Jarinifar ard
.__,pg-'.#lirf = 50 ¥78, WAE <40 ¥ | denrster =R5 50, Joseph = Rx 4p

(0) stferny = 60 VIR, BT =20 T Lenniler =R 60 Josaph = Ry 2
i) P = 26 ¥R, AWE 40 T Sennder = R 35 Josaph = R 4g
(d) dfepee = 30 Fod. FEE -45 W Senniter sRs 30 Joseph

a0 an pard d @

=Rs 45

LET/DEC/ 2031 FSET CACLASE - W PBge 28 o 33



176 WHANETO! 3(3x - §) + 4(dx + ) = 45 = 166 ml el ue o AT B By
solving equation 3(3x - B) + 4{4x + ) = 45x - 165, value al =" 15 .
Y [d) s

(@) 16 b8 {e) 12
177, 27 @ bl dell erall Tiveman o i sme adfa = & @ [ansa &) /Find the
sum of all numbers less than 27 which are dwisible by 3.

(&) 18 (k) 54 ch idy 36

178 753 A s ey G000 @ A wodldl iy s 5400 T & du fsen 17w el
ufirercy Firscron et 7 1 Ram bought a cycle for Rs 600D and scid it for Rs EIJD'D. What

s his logs percent?
(8) 20% (b} 15% 2 [ {d) 30%
178 TTBG x 4B +7780 x 52 w e wner A
r e 7788 x 4B +T769 x 52
b ~e 7 TER00 id) 7TRG9S

(a} 10846372 (b) 407524
180, HET O TR E 20 % st o B R E0A § O soo o 8 @ R & OTH
Eyeredl STeaTTaY £/ Mahan i having 20% mare money than Shyam. If Shyam has RS

500 then find y shat Mohan has?
Wﬁﬂ-mﬁ (b} 520 (e} 400 (d) 420

181, T ot fy o fanl ufy efer & o W uE A ww o o g R/

Speed of a car is 80 kmir, Distance covered m 1 % hours s
() 60 km. (b} 65 kem, (c) 70 kn M7 R

162, ®F @ wEE 5 e mwmst o awlon &3 36 by 4B e wrenen ars @

Which group shows all the numbers that are comman factors of 36 and 487

(@p1.2.3.46 “T 2 3. 4,612
fcy1.2.3, 4.6 9 12, 18 fdp1.2.3 4,6 8 12 16, 24

183 b sl ds w75 ey ak & B @ s oo aft sl @ oot @ e a
Frcrem aman i b [éwet wivr & /A mian has a field of 75 acres of which 15 acres has
been ploughed. What part of the held & yet to be ploughed?

-1 & 4
L W';""' fe) - (d) <

184 10 lip & 6 Susaller Frast ey & Ty gy 10 kms, 6 decameter will be

equal ba how many fsters?
m (&) 10006 m (&) 10600 m {d} 16000 m

Il:ﬁh;II TR AT D - id han f How much 'm{nn whole day and
(3} 3 hours @) 1Zhours  er'18 hours (d) 10 hours

CET/DEC/2021/5ET C/CLASS - ¥| I —



186 SO Bt 3 ) evem e e enifed Y What should be subtracted fron
1% get =~ 7

1.]& EJ.L—J; ﬂ'ﬂi -'"'E:L%-’-_‘
187, T WL W75 % e ) What s 75% of ane hour?

~{mb 45 men (B} 30 min {c) 40 min {d) &0 min
188 [Hm}"?hn!ﬁhnﬁmﬂmnmn”lﬂﬂ-]'w

{a} 1 . (B} L= p AT (a1l
189 mﬂammwmﬂmummnlmnmm

(a) 500 b 5000 (€h 50000 (d) 50

191, ¥m iﬂ.lﬂ.:ﬂnlﬂlmﬁ.‘!ﬂﬂ.}ﬂ{ﬂdﬂlﬁluiﬂﬁﬂﬂﬂﬁ?hn?rﬁm

mmﬂ‘?mumnfnmnmmm PAITETS Toamyy
digts 5 QB 9 7is- —_— .

[a) 20580 (B SA530 €l 101108

12108
192, widmmfes 25 - 08w 002 a =% ma m?
expretsion 2.5 + 0.5 x 0.1- 0.05 ' Find the valus of the
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